[ Efficiency vs vertpos |

—_
+—

20.18
2
20.16
(&)
50.14
O
£0.12

0.1F

0.2

0.08

0.06F
0.04F

0.02

ry

. =+ 4|
- L .
= R S A R e A B o R S S 2 R T

s aaRN RERRE L AN RARE|
K1

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original-0

Efficiend —— DQM_TT_mkFit-DQM_mod-127
ICIeNd __,__ DQM_TT_ mkFit-DQM_mod_updated-127

N
-
=
(3]
>

[
>
>

0.2

0.18
0.16

2
50.14

L
=
)

0.04f

Ratio

0.12

0.1

0.08
0.06)

0.02

IIIII T
-
S

Y ko Mt | 4 e - - - -

=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

10 1520
Sim. PV z (cm)



	Contents
	Page 1


